
 Practice Sheet for Net Ionic Equations 

 

Complete and balance each of the following equations carried out in aqueous solution.  Also write the total ionic and net ionic equation for each.  Answers are included on the bottom of 

this page and on the back.  

 

BaBr2(aq)  +  H2SO4(aq)      KNO3(aq)  +  LiC2H3O2(aq)     Na2CO3(aq) +  BaCl2(aq)          

 

 Zn(s) +  AgNO3(aq)       Zn(NO3)2(aq) +  H2S(aq)       NaOH (aq)   +   HCl(aq)   

 

CaCl2(aq) + Na3PO4(aq)    AgNO3(aq)  +   HCl(aq)     Cu(NO3)2(aq) +   (NH4)2S(aq)  

 

Bi(OH)3(s) +  H2SO4(aq)     Sr(NO3)2(aq) +  H2SO4(aq)     Pb(NO3)2(aq) +  K2CrO4(aq)  

 

Pb(NO3)2(aq) +  H2S(aq)     NaCl(aq) +  KBr(aq)      SrCl2(aq) + AgNO3(aq)  

 

Cu(OH)2(s) + HBr(aq)      KOH(aq) +  HCl(aq)      HgSO4(aq) + Mg(ClO3)2(aq)  

 
 
  

  BaBr2(aq) + H2SO4(aq)  BaSO4(s) + 2HBr(aq)      Pb(NO3)2(aq) + H2S(aq)  PbS(s) + 2HNO3(aq) 

   

  Ba
2+

(aq) + 2Br 
-
(aq) + 2H

+
(aq) + SO4

2-
 (aq)   BaSO4(s) + 2H

+
(aq) + 2Br 

-
 (aq)         Pb

2+
(aq) + 2NO3

-
(aq) + H2S(aq)  PbS(s) + 2H

+
(aq) + 2NO3

-
(aq) 

 

  Ba
2+

(aq) + SO4
2-

(aq)   BaSO4(s)                                     Pb
2+

(aq) + H2S(aq)  PbS(s) + 2H
+
(aq) 

 

 

  Zn(s) + 2AgNO3(aq)  Zn(NO3)2(aq) + 2Ag(s)                               Cu(OH)2(s) + 2HBr(aq)  CuBr2(aq) + 2HOH(ℓ) 

 

  Zn(s) + 2Ag
+
(aq) + 2NO3

-
(aq)  Zn

2+
(aq) + 2NO3

-
(aq) + 2Ag(s)                   Cu(OH)2(s) + 2H

+
(aq) + 2 Br

-
(aq)  Cu

2+
(aq) + 2 Br

-
(aq) + 2HOH(ℓ) 

 

  Zn(s) + 2Ag
+
(aq)  Zn

2+
(aq) + 2Ag(s)       Cu(OH)2(s) + 2H

+
(aq)  Cu

2+
(aq) +  2HOH(ℓ) 

 

 

  3CaCl2(aq) + 2Na3PO4(aq)  Ca3(PO4)2(s) + 6NaCl(aq)                      KNO3(aq) + LiC2H3O2(aq)  KC2H3O2(aq) + LiNO3(aq) 

 

  3Ca
2+

(aq) + 6Cl
-
(aq) + 6Na

+
(aq) + 2PO4

3-
(aq)  Ca3(PO4)2(s) + 6Na

+
(aq) + 6 Cl

-
(aq)  K

+
(aq)+NO3

-
(aq)+Li

+
(aq)+C2H3O2

-
(aq)K

+
(aq)+C2H3O2

-
(aq)+Li

+
(aq)+NO3

-
(aq) 

 

  3Ca
2+

(aq) + 2PO4
3-

(aq)  Ca3(PO4)2(s)       No net reaction – everything cancels 

 

 

  2Bi(OH)3(s) + 3H2SO4(aq)  Bi2(SO4)3(s) + 6HOH(ℓ)                 Zn(NO3)2(aq) + H2S(aq)  ZnS(s) + 2HNO3(aq) 

 

  2Bi(OH)3(s) + 6H
+
(aq) + 3SO4

2-
(aq)  2Bi

3+
(aq) + 3 SO4

2-
 (aq)   + 6HOH(ℓ)              Zn

2+
(aq) + 2NO3

-
(aq) + H2S(aq)   ZnS(s) + 2H

+
(aq) + 2NO3

-
(aq) 

  

  2Bi(OH)3(s) + 6H
+
(aq)  2Bi

3+
(aq) +  6HOH(ℓ)      Zn

2+
(aq) + H2S(aq)   ZnS(s) + 2H

+
(aq)  

 

 

 

 



 

  AgNO3(aq) + HCl(aq)  AgCl(s) +  HNO3(aq)                         Pb(NO3)2(aq) + K2CrO4(aq)  PbCrO4(s) + 2KNO3(aq) 

 

  Ag
+
(aq) + NO3

-
(aq) + H

+
(aq) + Cl

-
(aq)  AgCl(s) + H

+
(aq) + NO3

-
(aq)  Pb

2+
(aq) + 2NO3

-
(aq) + 2K

+
(aq) + CrO4

2-
(aq)  PbCrO4(s) + 2K

+
(aq) + 2NO3

-
(aq) 

 

  Ag
+
(aq) +  Cl

-
(aq)  AgCl(s)       Pb

2+
(aq) + CrO4

2-
(aq)  PbCrO4(s)  

 

 

  Sr(NO3)2(aq) + H2SO4(aq)  SrSO4(s) + 2HNO3(aq)                    SrCl2(aq) + 2 AgNO3(aq)      Sr(NO3)2(aq) + 2 AgCl(s) 

 

  Sr
2+

(aq) + 2NO3
-
(aq) + 2H

+
(aq) + SO4

2-
(aq)  SrSO4(s) + 2H

+
(aq) + 2NO3

-
(aq) Sr

2+
(aq) + 2Cl

-
(aq) + 2 Ag

+
(aq) + 2NO3

-
(aq)  Sr

2+
(aq) + 2NO3

-
(aq) + 2 AgCl(s) 

 

  Sr
2+

(aq) + SO4
2-

(aq)  SrSO4(s)       2Cl
-
(aq) + 2 Ag

+
(aq)  2 AgCl(s)    (or divide by two for coefficients of 1,1,1) 

 

 

  NaCl(aq) + KBr(aq)  NaBr(aq) + KCl(aq)                  HgSO4(aq) + Mg(ClO3)2(aq)  Hg(ClO3)2(aq) + MgSO4(aq) 

 

  Na
+
(aq)+Cl

-
(aq)+K

+
(aq)+Br

-
(aq)Na

+
(aq)+Br

-
(aq)+K

+
(aq)+Cl

-
(aq)   Hg

2+
(aq)+SO4

2-
(aq)+Mg

2+
(aq)+2ClO3

-
(aq)Hg

2+
(aq)+2ClO3

-
(aq)+Mg

2+
(aq)+SO4

2-
(aq) 

 

  No net reaction - everything cancels                    No net reaction - everything cancels 

 

 

  KOH(aq) + HCl(aq)  KCl(aq) + HOH(ℓ) 

 

  K
+
(aq) + OH

-
(aq) + H

+
(aq) + Cl

-
(aq)  K

+
(aq) + Cl

-
(aq) + HOH(ℓ) 

 

  OH
-
(aq) + H

+
(aq)  HOH(ℓ) 

 

 

  Na2CO3(aq) + BaCl2(aq)  BaCO3(s) + 2NaCl(aq) 

 

  2Na
+
(aq) + CO3

2-
(aq) + Ba

2+
(aq) + 2 Cl

-
(aq)  BaCO3(s) + 2Na

+
(aq) + 2Cl

-
(aq) 

 

  CO3
2-

(aq) + Ba
2+

(aq)  BaCO3(s) 

 

 

  NaOH(aq) + HCl(aq)  NaCl(aq) + HOH(ℓ) 

 

  Na
+
(aq) + OH

-
(aq) + H

+
(aq) + Cl

-
(aq)  Na

+
(aq) + Cl

-
(aq) + HOH(ℓ) 

 

  OH
-
(aq) + H

+
(aq)  HOH(ℓ) 

 

 

  Cu(NO3)2(aq) + (NH4)2S(aq)  CuS(s) + 2NH4NO3(aq) 

 

  Cu
2+

(aq) + 2NO3
-
(aq) + 2NH4

+
(aq) + S

2-
(aq)  CuS(s) + 2NH4

+
(aq) + 2NO3

-
(aq) 

 

  Cu
2+

(aq) + S
2-

(aq)  CuS(s)            Modified 08/22/10    GSB 


